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(sin) (cos) (tan)
52° 0.7880 0.6157 1.2799
53° 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
55° 0,8192 0.5736 1,4281

D 1.1932
@ 1.1935

@ 1.1933 @ 1.1934
® 1.1936



6. o2 19H A cosx +siny & Ff= -5l

D V2 @ 22 ® V3 @ 2+3 ® 33



it g2 A7l Azt

a

ojn

o

QORI

cos A
tan A

Q@ @

STRSRSEESLSERS
f | |

@ sin A
© cosB
@ tanB




o 2o A /BAC = 90° o], A
BCLAHo|t}. /CAH = xgt & o,
tan x & gE2?

@
@

@
®

©)

| vt | o
| T | W
[N






D 2v5cm

@ 3cm

@ 4+5cm ® 2V7cm
® 4+3cm



11. tanA =052 o, sin A +cos A 9] FH22(H, 0° <A <90°)

@4«/5

@ ; 5

5



12.

£C =90° ¢l AABC °J|A] tanB =

| O

A o, sin B 9] g7

A

\

\

\

6

1

/

/

B<— —C

\\_8__’,

3 4 3 4

®Z @5 ®3 @3 ®

= | Ot



12
13. ﬁn@M°—A):i§°1q,mnA9l§€ﬁ(9;0°<A<9ww

12 13 12
O = @ = ® = @ = ® 3






15. 2sin45°cos45° + cos30°sin30° 9] 3F2?

®1+¥ @1+§ ®2+¥
@2+§ ®2+§



16. thS 1A AB = 8cm , A =30° & W, x,y o] Zo]E F5}oiat.

cm

v
L
=
Il

v
it
<

Il

cm



17. ©hg AZd7gel A AB o) Lolg Pt
ofe},

5 R
=%




18. o= ™A y—x 9] 27




19. o2 I3y 7o) /B = 60°, «C = 45° 21 AABC o4 AH1BC °]2,
AB =8cm ¢ w, AC ¢] Zo]&?

@ 4cm @ 4+3cm ® 4+6cm
@ 8Scm ® 8+6cm



20. AAEe] 7leold] AEE UEe BAEE w8712l eh 272 9
vl ofsf| 24 dnt. v T FAES 7P EAE d2 A2?

@ sinA @ cos A @ tanA
1 1
sin A cos A




ALk 2 Ao] x 5] O]

, tany o] gt& F-5kei=t,



theL WA g el ol 191 A}

7/10

22.

e He

]

o} e & 2%

]

=BC

@ cosC

=DE

@ tan A

BC

AB

@ sinA

® sinC

= DE

® cosA



23.

o
ore 2

the % ARzl Y] ghe] 4 AR 4

tlo

R =9
@ sin45° = cos45° @ sin85° > sin 25°
@ sin40° > cos 20° @ cos10° < cos 80°
® sin75° > cos 75°



24. 0°<A<90° ¥ o, o} 7HHs] oh?
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T sin x cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724
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